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Part [ Structure and Vocabulary (20%7)
Directions : There are 20 incom plete sentences in this part . For each sentence there are four choices marked A),B),C)
" and D). Choose the ONE answer that best completes the sentence. Then blacken the corresponding letter on
the Answer Sheet with a pencil.

1. $ 20 is all the money 1 have to on for the rest of the month.

A) put B) stand C) spend Dy live

|3

. Mrs. Robinson was asked to the explanation.
- A}  speak B) inform C) repeat DY tell

3. He didn’t seem to mind TV while he was cooking.

A) his watching B) him watch C) he watching D) him to watch.
4. 1f you had told me the truth,l the wrong part for the copying —machine.

AY  would not buy B) did not buy C) -wouldn’t have bought D)  should not buy

5. As a MBA candidate,Mr zhao regretted the English training class before the test.
A) not to attend B) not to be atiending C) not attending D) not having been attending
6. All is a continuous supply of improved technology to the {actory.

A} Afor their needs B) that is needed C) what is needed D} the thing needed

=1

. Miss.if these socks are rough to you ,I can show you a more delicate

A) one B)  suit C)  pair DY set

8. The roads are wet. It during the night,
A)  had to rain B) had rained C) must be rainin.g D) must have rained
R .he is never arrogant,

A As he is bright B) He though is bright C) Bright as he is D) He is bright

10. what may.we are not to yield to his bullying demands.

A) Came B) Coming C) Comes D) Come
11.

—

Many children complain that they have to do all things _ the satisfaction of adults rather than the develop-
ment af their potentials.
A 1o B) by Cy for D) on
12. Te my knowledge,there will not be sulficient local funds _  for such a costly project.
A} considerable B) preferable C) reliable D) available
13. The police stopped him because he ____the traffic regulation.
A)  damaged B) broke C) destroyed = D) corrupted
14. It wasn't such a desirable air conditioner ___ the advertisement had promised us.
A) as B)Y which C) what D) that
15. In fact,people have known why the government is hesitating to __the news officially ,even if it’s known to the
public.
e



A) remark B) announce C) release D) report
16. I"ve just the article in that newspaper.
A) come through B) come to C) come up D) come across

17. Few people could see why NBC should out such an action for attack then.

A)  pick B) take C) run DY lock
18. My sister _ my letter,or else,she would not have called me just now.
A)  mustn’t have received B) shouldn’t have received C) ought not to have received D
couldn’t have received
19. Despite all his talent,he is not ____a writer.
A) quite to B) adequate CY much of D) somewhat
20. If only I_as young as you

A} was are B) am-+-are C) were--are )Y would be+are

Part T Reading Comprehension (50%) °

Section A

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements. For
each of them there are four choices marked A),BY,C) and D). You showld decide on the best choice and
blacken the corresponding letter on the Answer Sheet with a pméfi.

Question 21 to 25 are based on the following passage:

In 1956, William H. Whyte,Jr. developed the phrase“organization man” to describe an individual devoted to a
firm’s a goals and sticking to its ideals, perhaps at the expense of personal beliefs and feelings. Tn order to safeguard his
position, the “organization man” tried to be what he thinks the organization wants him to be. The organization both
rewards such devotion and makes it continue, Companies decide what qualities they want their top managers to have
and then seek out employees and trained people of management who seem to have the desired qualities. Relevant tests
are given to determine whether an individual will {it into the firm. People whose behavior, ideas,or appearance is un-
usual or disagrees with the firm’s image are not moved into top administrative positions. Laurence Peter developed his
well—known principle as a result of his observation of competent (#5 8 #1) and incompetent business behavior. The
Peter Principle is +in an organization, every employee tends to rise her or his level of incompetence. An implication of
the Peter Principle is the suggestion that in time most positions are filled by employees not capable of doing their jobs.
In the Peter Description, Peter has advice for people who are good at what they do and are faced with the possibility of
being promoted into a position they can not handle: “When threated with an unwanted promotion,pretend you are al-
ready incompetent. "Related to the Peter Principle is the Radovic Rule, laid down by lgor Radovic in the Radovic
Rule:How to Manage Your Boss. The Radovic Rule is :“In any organization,the potential (7 #)is much greater for
the employees to manage his boss than for the boss to manage his employees. ” This would certainly stand to reason if
the boss has reached his or her level of incompetence and both the boss and the employee know it. The boss would
bhave to depend on the abilities of employees to maintain his or her position,and the employees could manipulate (8

£ ythe dependent boss.



21. The “organization man”was used to describe a person
A) dependent on an organization. B) of marked individuality.
C) most loyal to a company. D) with uncommon ideas.
22. Laurence Peter suggests that most people engaged in present posts will sooner or later become not their
work.
A) qualified for B) familiar with C) interested in D) running after

23. The essence of Peter’s advice is that people should

A)  be satisfied with whatever posts they are promoted to B) do better at the posts they are promoted to
C) decline the posts they actually can’t handle well D) study hard at new posts while working

24. According to the Radovice Rule, it is most likely that
A)  bosses will be managed by those who work under them B} bosses will not be liked by employees

C) good bosses will help workers move ahead D) poor bosses will get ahead most quickly

o
[+

. It seems that, by writing this passage, the author
A)  arracks the ill —practices observed in business B) doesn’t think much of the competence in business
C)  concludes that personal ties are more important than competence

D) tries to present an objective account of practices in business world

Questions 26 to 30 are based on the following passage .

If it were only necessary to decide whether to teach elementary science to everyone on a mass basis or to find the
gifted few and take them as far as they can go ,our task would be fairly simple. The public school system,however,
has no such choice,for the jobs must be carried on at the same time. Because we depend so heavily upon science and
technology for our progress.we must produce specialists in many fields. Because we live in a democratic nation , whose
citizens make the policies for the nation,large numbers of us must be educated to understand, to support, and when
necessary. to judge the work of experts. The public school must educate both producers and users of scientific service.

In education »there should be a good balance the branches of knowledge that contribute to effective thinking and
wise judgement. Such balance is defeated by too much emphasis on any one field. This question of balance involves not
only the relation of the natural sciences, the social sciences, and the arts but also relative emphases among the natural
sciences themselves. )

Similarly ,we must have a balance between current and classical knowledge. The attention of the public is contin-
ually drawn to new possibilities in scientific {ield and the discovery of new knowledge ; these should not be allowed to
turn our attention away from the sound,established materials that form the basis of courses for beginners.

26. According to the first paragraph, the task of education is fairly complicated because
A)  the current public sheool system is too complicated to be understood
B) the public school system has no choice of what to teach
C) it is difficult to decide whether elementary science should be taught in public schools
D) the educators have to take care of both ordinary and gifted students

27. The word “defeated” (para. 2,line2) most probably means
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A) broken B) beaten C) destroyed D) damaged
28. Which of the following peints is NOT INCLUDED in the passage?
A) One of the major tasks of education is to discover the most promising students.
B) In order to teach effectively,educations are requested to lay emphasis on one particular field.
C) Some subjects have been overemphasized in public schools.
D) The progress of the society cannot merely rely on inventors
29. It can be inferred from the passage that
A) students should learn more up—to—date knowledge
B) lack of scientific knowledge will lead to poor relations between producers and users of knowledge
C) students are getting to know the importance of a good balance among the branched of knowledge
D) sufficient attention should be given to basic knowledge
30. The best title for this passage might be
A) Balance in Education B) Educational system in Public School

C) Current Situation in Education D) Importance of Teaching Science and Technology

Questions 3] to 35 are based on the following passage:

An industrial society, especially one as centralised and concentrated as that of Britain, is heavily dependent on
certain essential services:for instance, electricity supply , water,rail and road transport,the harbours. The area of de-
pendency has widened to include removing rubbish, hospital and ambulance services, and as the economy develops,
central computer and information services as well. If any of these servcies ceases to operate,the whole economic system
is in danger. .

It is this interdependency ({E4&¥E) of the economic system which makes the power of trade unions such an im-
portant issue. Single trade unions have the ability to cut off many countries’economic blood supply. This can happen
more easily in Britain than in some other countries,in part because the labour force is highly organized. About 55 per
cent of British workers belong to unions, compared to under a quarter in the United States. For historical reasons,
Britain’s unions have tended to develop along trade and occupational lines, rather than on an industry by industry ba-
sis, which makes a wages policy, democracy in industry and the improvement of procedures for fixing wage levels dif-
ficult to achieve. There are considerable strains and tensions (35 W) in the trade union movement,some of them
arising from their outdated and ineffcient structure. Some unions have lost many members because of industrial
changes. Others are involved in arguments about who.should represent workers in new trades. Unions for skilled
trades are separated from general unions, which means that different levels of wages for certain jobs are often a source
of bad feeling between unions. In traditional trades which are being pushed out of existence by advancing technolo-
gies, unions can fight for their members, disappearing jobs to the point where the jobs of other unions, members are
threatened or destroyed. The printing of newspapers both in the United States and in Britain has f; requently been halt-
ed by the efforts of printers to hold on to their traditional highly paid jobs.

Trades unions have problems of internal communication just as managers in companies do, problems which multi-
ply in very large unions or in those which bring workers in very different industries together into-a single general u-
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nion. Some trade union officials have to be reelected regularly; others are elected or even appointed for life. Trade u-
nion officials work with a system of shop stewards in many unions, shop stewards being worker elected by other work-
ers as their representatives at factory works level.
31. The trade unions in Britain are powerful because

A) the economy of the country is highly interdependent

B) her trade unions have the longest history in world

C) they are larger in number than those in other countries D) they are lawful organizations
32. Tt is difficult to improve the procedures for fixing wage levels since

A) not all industries have trade unions of their own

B) people don’t organise trade unions according to industries

C) not all employees belong to trade unions D) trade unions seldom agree with each other
33. Owing to their out —dated organization ,some unions have difficulty in

A) changing as industries change B) getting members to join

C) learning new business practices D) bargaining for their democracy

34, Disputes frequently arise between British trade unions because each one

A) tries to win over memebers of the other union B) pays little attention to agreements between others
C) is inclined to protect its own membe: at the expense of others D) is developed freely

35. British trade unions look similar to large business firms in that
A) both have offcials B) both care little about individual workers

C) both contribute to the nation’s economic growth D) both have troubles in information exchange

Questions 36 to 40 are based on the following passage:

A stockbroker, said Woody Allen, is someone who takes your money and invests it until it’s all gone. Sadly, a
survey conducted by the American Stock Exchange, the New York exchange’s smaller rival, suggests that ordinary
investors think Mr Allen is not just funny but right. There is a divergence (i{ 5, {8 of interest between investors
and the people they employ to execute their investments. H stockbroders wish to survive (and many lock doomed on
both sides of the Atlantic,)they will have to close this gap.

Wrongly but understandably, the exchange is paying more attention to another finding ;that only 28 % of Ameri-
can investors have“lost confidence”in the stockmarkets as. a result of the October 1987 crash. This is flatly contradicted
by the professionals, When stockbrokers were asked their opinion, 81 % said that their customers were still troubled by
the harm of October 1987. Institutional have powered the recovery in share prices. Many individual investors have tak-
en to the hills. .

Perhaps private investors are put off, not by the markets, but by the people who sell them those markets. In
buying and selling shares, private investors say they are more influenced by what they read in newspapers than by
what they hear from brokers. Since journalists usually rank alongside second —hand car salesmen in public respect,
this should worry brokers. So should the feeling of ordinary shareholders that they are second —class citizens in the
stockmarkets. Most think that the markets are not level playing fields, that the individual investor has little chance a-
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gainst the large institutions. A particular complain is that institutions are told things first. Stockbrokers admit it :two
—thirds agree that“by the time small investors hear about a good stock it*s usually too late. ”

The investors polled by the American Stock Exchange are not helpless Aunt Millies with egg money in penny
stocks. The typical investor questioned is 55 years old, has a university degree and heads a home with an annual in-
come of $ 80,000. He(most are men) knows about options(3E#4§4#) , zero—coupon bonds (¥, B )and sock—
index funds. He is also a conservative sort of chap,much keener on preserving his capital than on trying to be extreme-
ly successful.

36. What is a stockbroker in the author's opinion here?
AY A shareholder, B> A person employed to carry out investments.
C)  An investor. D) A salesman employed to carry out investments.
37. The October —1987 —collapse of stack exchange
A) made many investors uneasy B) depressed the stack exchange
C) diserted the stockmarket D) beat many rivals

38. That the stockbrokers look doomed is that

A) their customers can’t get over the disaster of (Oct. 1987
B) there has been a drop of public trust in them
C) the public prefer both journalists and seqond—hand—car salesmen to them
D) they don’t give timely information to the customer
35. Individual investors are by no means the rivals of institutional investors because
A) institutional investors are more powerful B) institutional investors are first—hand citizens
C) institutional investors are told things first D) institutional investors can afford to fail
40. Most individual investors are

A) helpless B) short of money C) women D) men

Section B
Directions : Read the follmwing passage and then give short answers to the five questions, write your answers on the An-
swer Sheet.

Napoleon Bonaparte’s ambition to control all the area around the Mediterranean Sea led him and his French sol-
diers to Egypt. After losing a naval battle, they were forced to remain there for three years. In 1799, while construct-
ilng a fort, a soldier discovered a piece of stele (stone pillar bearing an inscription} known as the Rosetta stone. This fa-
mous stone, which would eventually lead to the deciphering of ancient Egyptian hieroglyphics dating to 3100 B. C,
was written in three langnages: hieroglyphics (picture writing) ,demotic (a shorthand version of hieroglyphics) ,and
Greek. Scientists discovered that the characters, unlike those in English, could be written from right to left and in oth-
er directions as well.

Twenty —three years after discovery of the Rosetta stone, Jean Francois Champollion, a French philologist, flu-
ent in several languages, was able to decipher the first word -—Ptolerﬁy—name of an Egyptian ruler. This name was
written inside an oval called a “cartouche”. Further investigation revealed that cartouches contained names of impor-
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tant people of that period. Champollion painstakingly continued his search and was able to increase his growing list of
known phonetic signs. He and an Englishman, Thoms Young. worked independently of each other to unravel the
deeply hidden mysteries of this strange language. Young believed that sound values could be assigned to the symbols,

while Champollion insisted that the pictures represented words.

41. Which languages were written on the Roserta stone?

42, When was the first word from the Rosetta stone deciphered?
43. Why were Napoleon’s Soldiers in Egypt in 17997

44. Who was responsible for deciphering the first.word?

45. What was the first word that was deciphered from the Rosetta stone?

Part I. English—Chinese Translation(15%;)

Directions ; Read the following passage carefully. Then translate it into Chinese, Write your translation on the An-

swer Sheet.

Convective flow should be familiar to anyone who has noted the boiling of a heated liquid. The most elementary
type of convection can be explained by the fact that heat rises. In the simplest cases, convection flow begine when a
fluid is heated from below. As the bottom layer of the fluid is heated, it expands and thus becomes less dense than the
layers above. The warmer and lighter bottom layer then tends to rise and the cooler layer tends to sink in a continuous
cycle. The same mechanism of convective flow is responsible for the great oceean currents and for the global circulation

of the atmosphere.
Part V. Writing (15%)

Directions: For this part. you are asked to write a composition of “ Enviroment Protection” with about 100 words, Re-

member to write clearly and write this com pesition on the Answer Sheet.
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